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Which country does not use a plurality voting system?

A.lran

B. Great Britain
C. China

D. Mexico

E. Nigeria

Answer: C

Explanation:

A plurality voting system is one in which the winner is determined by the most votes, but not
necessarily the majority of votes. It is used in single member districts. Every country listed except
China uses a plurality voting system. China uses a parallel voting system.

Nigeria is a member of which organization dedicated to promote "all fields of economic activity,
particularly industry, transport, telecommunications, energy, agriculture, natural resources, commerce,
monetary and financial questions, social and cultural matters..." ?

A.WTO

B. ECOWAS
C.EU

D. SADC

E. CEDEAO

Answer: B

Explanation:

Nigeria is a member of the Economic Community of West African States (ECOWAS). The
ECOWAS is dedicated to "all fields of economic activity, particularly industry, transport,
telecommunications, energy, agriculture, natural resources, commerce, monetary and financial
questions, social and cultural matters... Fifteen countries are currently members of the ECOWAS.

What is a main difference between the formation of the Nigerian government and the government of
Great Britain?
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A. Religious cleavages
B. Political uprisings
C. Economic cleavages
D. Interstate war

E. Immigration

Answer: D

Explanation:

Modern Nigeria was once a British colony that gained independence without war. Interstate

war is a unifying factor in the formation of nations, and a key to effective taxation. This lack of
conflict with neighboring countries is thought to be a reason for the slow development of Nigeria.

What outside influence played a role in the Russian Revolution?

A. Agrarian bureaucracy
B. World War |

C. Peasant grievances
D. Modernization

E. Land rights

Answer: B

Explanation:

The Revolution of 1905 occurred for many of the same reasons as the 1917 Revolution. The

Czar was able to end the rebellion using the military. Due to loans from western countries, Russia
was included in World War I. The military involvement outside of Russia played a role in the
success of the Revolution in 1917.

is a relatively new concept.

A. State

B. Government
C. Sovereignty
D. Emigration
E. Nationalism

Answer: E

Explanation:
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Different localities as a nation is a newer idea. Nations are united by societies once united
under a local ruler or area, similar to a state. Nations unify under common interests, beliefs,
ideologies or religion rather than locality. Nationalism unites people beyond the interest of their

states.
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